2
155kg/m? 185 kg/m?

W/B
( W/B ) A
B
10% 15%
AE 2.2
W/B=25%
W/B=20%
W/B=16% W/B=13%
2.1
1
(
) ( @ 100x
) ( ) ( 200mm
) 4
1
A
B A (3.16g/cm®) C (2.29/cm?)
B (3.21g/cm?)
A A (3.03g/cm®)
B B (3.069/cm®)
( ) 2.63g/cm® 1.45%
( ) 2.62g/cm® 1.46%
( ) 2.70g/cm’ 1.01%
C ( ) 2.63g/cm® 2.06%
( ) 2.64g/cm® 0.95%
( ) 2.65¢/cm® 0.55%
( ) 2.71g/cm® 0.57%
( ) 2.71g/cm® 0.72%
(SSP-104) SSP-104

Development of Super-Low Water Cement Ratio Concrete
Noboru YUASA and Fuminori TOMOSAWA



3 2
W/B kg/m 5%’4 N/mm 28
%
*) ) @ | e | (©m ® | () 3 7 2| 7
5 [792x 702 35 194 | 668 | 740 | gp3 86.0
708x 67.4| 40 191 | 668 | 765
25 10 558 1| 62 581 | 1043 | 8680 5 915 | 883
5 |el18x 616 30 | 194 [ 672 | 772 | go4 | 851
5 [769x 647 49 194 473 56.8 68.9 70.3
210 |840x 59.1| 38 191 | 510 | 749 | 1027 | 1077
5 |604x588| 63 210 | 569 | 783 | 1165 | 1219
20 2 775 676 7130
5 |754x 718[ 70 205 | 583 | 775 | 987 | 1030
5 |742x 713| 69 210 | 556 | 727 | 1080 | 1176
232 |39.2x 363| 20 261 | 898 | 1009 [ 1177 _
220 |[300x 278 17 261 | 864 | 1096 | 1225 _
10 g72 * 97 44574
- 232 |465x 372| 20 256 | 839 | 978 | 958 _
16 513 5 |61.7x56.1| 13 241 | 944 | 1074 | 1252 _
437 5 |698x 689 21 215 | 482 | 725 | 1147 | 1111
730x 71.0| 24 215 | 476 | 766 | 1212
2 969 66861 5 1173
5 |709x 688| 30 212 | 478 | 685 | 997 99.0
5 |707x 659| 28 220 | 475 | 726 | 1156 | 1155
250 |458x 454| 31 205 | 455 | 673 | 932 873
) 1192 243 |415x 398| 31 225 | 510 | 744 | 1059 | g6
238 |40.7x 400| 36 235 | 497 | 662 | 938 90.7
328 109664 :
13 5 |434x 406| 25 232 | 525 | 747 | 1039 | 997
10 1073 ' 119 300 |20.0x 20.0 5 282 64.5 57.0 785 -
3 1192 5 |557x560| 13 | 229 | 433 | 710 | 1051 -
10 1281 4| 142 237 |351x348| 32 | 250 | 475 | 685 | 1037 _
185 249 638 | 114552
15 1210 4| 213 232 |358x359| 46 | 240 | 422 | 686 | 1148 -
A 2A 3 B
4B 5
20 3

W/B=13%
20 2 50 ( )

€ 40 -
2.3 2
30 1
20 T
3 7 28 W/B=13% A 10 ]
A |
0 B A

sil0 sil0  sil15
(A ) B )

28

3.1
W/B=13% 1 A

A W/B=13% A



30 1

10 w

130
W/B=16

110

(N/mm?)

50

(A )
si10 (A )
O ]

10 ‘

3.2

3700kg/cm?
3

1300kg/cm?

W/B=25%

130

110

(N/mm?)

30

W/B=20

10

14 21 28

130

110

(N/mm?)

50

W/B=13

10

14 21 28

130

110 1

90

(N/mm?)

70

50 7

30

W/B=25%
w/B

(A )sil0

10
10

15

25 30



W/B

W/B=13%  W/B=16%

W/B

W/B=16%

(©9)
15%
10%
28

10%
28

(N/mnf)

W/C=13%

W/B=16%

D

2)

3)

28

W/B =13%

4)

5) W/B=16%

W/B=16%

130

W/B=13%
( )

B

)sil5

aaadi

130

110

50

30

10

W/B=13% W/B=16%

10%

28
W/B =13%



